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Mt | eE| mER JUHF OB _ _ __ wast
IREEEY | EEER | P®RAST | S1 | S2 | S3 | S4| S5 | S6 | S7 | S8 | S9|S10| L E D H | Synchro| Pen Total
2R Ins 0% =X Wing - Rq KUMAMOTO
1| 5 | E MR 7 SA% | Wing - Rana 37.100 | 36.560 | 73.660 |2.5 |1.0 [1.5 |1.5 |2.0 [1.5 [2.0 |2.0 [2.0 |2.0 1.0 |8.10 | 2.0 |9.85 | 18.38 | 0.0 |38.330 [111.990
BE 5 0% =7 | Wing - Rana KUMAMOTO
eIl 8 ORHD MEEY VRS2RUOST
2 | 10 | TN BR oD hEEY) ADURSIMRIZIZT | e 30| 37.240 | 73.570 [4.0 |2.5 3.0 [3.0 2.5 |3.0 2.5 |2.5 |3.0 3.0 |0.5 |7.05 | 2.0 [9.90 | 17.48 | 0.0 |36.430 |110.000
Bl BB |ownD 3= ADVRSIRUSHST
B B U EEH AIRFLOAT
3| o | FBEE I _ATRPEERT | 36380 | 37.480 | 73.860 [2.0 [1.5 [1.5 [1.5 [2.0 |1.5 [2.5 |2.0 [2.0 |2.5 [0.0 |8.10 | 1.9 [9.70 | 16.44 | 0.0 |36.140 |110.000
KA EH|FEN JULE| BERSSRUSSST
g e S VRSIRUS 57
4| o | BEOR B | OUFEED | ADIRSIAVZIST | oo a0 | 35.850 | 71.690 |3.5 |4.0 |2.5 [4.0 [3.0 [2.5 [2.5 |25 |3.0 [3.0 |0.5 |6.90 | 3.0 |9.55 | 18.56 | 0.0 |38.010 |109.700
teak BB |DYFS10T| ADYRSIARULSST
BHE = HYh+a4 FAA| TENNSZRUSHST
5| 1 i g ZIMEr777 | 34,360 | 36.640 | 71.000 [2.5 |1.5 2.5 1.5 |2.0 |2.0 1.5 |2.0 |2.5 [3.0 |0.5 |7.85 | 1.3 |9.95 | 18.34 | 0.0 [37.440 |108.440
B RE FULS VYDR| TENNSZRUZOST
B ER |9XUIF <F| EARSSAUSSST
6| 7 | =7 F ~ YT RERSIRIZTZT | 35500 | 33.190 | 68.480 2.0 |2.5 |3.0 |2.0 |15 [1.5 [2.0 [2.0 [3.0 |2.5 |0.5 |7.75 | 2.6 |9.55 | 17.86 | 0.0 |37.760 |106.240
R RAE |[v9ns avson| BERRNSIRUSOST
27T TS XEER Uxh|MaHaRohS>RUS ST
;| s | P TR amaRonoZME 27771 34,180 | 34.490 | 68.670 |3.5 |3.0 |3.5 |3.5 [3.5 [3.0 [3.0 3.0 3.0 [3.0 [0.5 [6.75 | 0.9 |9.95 | 18.28 | 0.0 |35.880 |104.550
BE AH J5FAR I=|MaHaRohS>RU>OST
HE WAB | oT3509| A0V RS ARUSH5T
8| 4 e 72722 1 35700 | 35.060 | 70.760 3.0 2.5 [3.0 [3.0 [3.0 [3.0 |2.5 |2.5 |2.5 |3.0 0.5 |7.15 | 0.8 |9.85 | 15.34 | 0.0 |33.140 |103.900
HE 0BD |AIOTEF )| ATV RSIARUSHS5T
AR pES ==3HT5 ! MaHaRo hS>RU>OS5T
9| 3 RIS [p=memos wob MaHaRo R I2MIZI5T) o) 200 | 32.630 | 66.930 |3.5 [3.0 3.0 [3.0 [3.0 |3.0 [2.5 [3.0 |3.5 |3.5 |0.5 |6.85 | 2.1 |9.75 | 16.26 | 0.0 |34.960 |101.890
SK = (<YAS Y b|MaHaRobhS>RU>OST
KE BB FAAYV ) 7HK| MaHaRo hS>RU>OS5T
10| 6 | 9% g araroro 2= 771 35 080 | 33.200 | 65.280 [2.5 3.5 |3.5 2.5 3.0 |3.0 [3.0 [2.5 |3.0 [3.0 [0.5 |7.00 | 0.7 [9.70 | 17.34 | 0.0 |34.740 |100.020
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